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The clown Stepa


The clown Stepa was born in a circus family. His father was the trainer of dogs. His name was Stasik. His mother was an acrobat Klepa. That's why the name of the boy was Stepa (Stasik + Klepa). Hi loved balloons most of all. That's why he became a clown.

Every performance Stepa was with balloons. During one performance Stepa gaved 2 balloons to the child, 3 balloons flew away and 1 balloon bursted. How much balloons did Stepa have?
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1. Stepa said his friend Gosha that he would eat 5 jars of jam. But he ate only 3 jars. How many jars could not eat Stepa? _____

2. [image: image3.png]


Gosha has a lot of persons sitting on his neck. There are his wife Masha, two big daughters – Asya and Tasya and three little sons – Misha, Grisha and Tisha. How many persons are siting on the Gosha’s neck? _____

3. Hungry clown Stepa eats three breads for 9 minutes. When he is not hungry it takes him 15 minutes. How many minutes is the difference between these two times? _____

4. How many pieces of sugar will disappear in Gosha’s cup of tea if he put 3 pieces by himself and Stepa put there 12 pieces more when Gosha turn around? _____

5. Stepa cleaned his room in the circus. He threw 12 kg of garbage. After that Gosha cleaned the same room and threw 12 kg of garbage more. How many kilograms did they throw both? _____

6. Stepa and Gosha divided 8 apples. Stepa took 6 apples. How many apples did Gosha get? _____
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